Total n=48 r=0.55 p< 0.0001
HBV Carrier n=12 r=0.25 p=0.42
CHB n=18 r=-0.06 p=0.81
ACHBLF n=18 r=0.17 p=0.48

['2]

T 35+

(5]

= 30- ©

=

5 o

» 20-

8 154 o 8

{=)]

2 10-

5 0° S

5 op°e0  °

= 0O+ T T 1
&s 0.0 25 5.0 75 10.0 12.5

Serum level of HBV DNA(Log 4o IU/mL)

0

@ 12.5+

8 r=-0.09

T 1004 o p=0.80

=

o

p: 751, o

Q

o . o

2 = M
h -4

5 25 8

[=]

- 0.0 T T ] T v !
& 0 250 500 750 1000 1250 1500

Serum level of ALT(IU/L)

B

Ratio of Treg cells to Th17 cells

Ratio of Treg cells to Th17 cells

Total n=48 r=-041 p=0.004
HBV Carrier n=12 r=-0.53 p=0.07
CHB n=18 r=-0.09 p=0.70
ACHBLF n=18 r=-0.69 p=0.001
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